XA

-

/Product

AR RAT
MEAAL 0-40000mm
W 1) SFTEE
P 58mm 80mm 130mm 190mm B0l i G
TS S (NPN/PNP) | 442 () , K83 (L)
PIE 0.01mn/P
KA 0.05%FS F02 IDESIEES
EAMA 001%
WMATAEA 350N
RKR 300mmn/s o3
R A 200 7 ~500 7
Ty 0.6mm. Imm 316L #0744 5% 5
B R IP54-1P65 ot e i /
;
B -25C -85°C \f‘/ﬁu
ShRMAE HAseA, MHARA
ELEe R 17mm
FO5 PIRES )
fra s A8 B RS0k 2 A, 3MA AN F kR d
e |
A 5% 3% % /Ordering Information
MEE—c ? - E
SHRY | | Bemiz FEAK MR oﬁrﬂ: 7;:& %*t’&ft t:!ﬁ»ﬂ: prepen
External Diameter of Lap utput Form utpul able Special
dimension wire rope. circumference Yo0D! Number Length o 2
mm E: @R 4 /TTL K1: Im
58mm 0.6mm 125mm 2000mm | |; %44 firsh /Line Drive K2 2m
80mm 1.0mm 200mm 3000mm || 443 g st /Push-Pull Kz | legmrs
130mm 348mm 5000mm || . 4 417755 NPN i w, bk
190mm 510mm 10000mm Collector Opens
S 20000mm || pp. profibus-DP
30000mm || p. profinet
40000mm | |s; g it s
RS: RS485&4-20mA %
RS4858 1-5V fr th
AV: 4:20mA %, 1-5V firsh
BB FHA (Ki) AR

http://www.mogok com.cn  Tel: 027-81828399

BT LA 2K 3K 5K

5
1241

5
[

s
o o
s
- % »
o o
I A W D M A
2 P
1 ] . i 2
#AF: 10k B e ERF ISR [ £
A
© )
& [] (] o o—
Ly
% 3 |
o ‘. ; )
L D T F L "
13 - ] W O €
< 48 . 1
& | i i
© ©
o o, 0 o o o
E M
© & | . o o0 o
L Lle ° totad
Wby £ A
1 L B
19 R (mm) 58 80 130 190
WERA (m) 1 2 3 5 6 10 15 20 25 30 40
FEAK (mm) 125 200 200 348 347.5 348 348 348 510 510 510
ARIEL (mm) 06 06 06 10 0.83 1.0 10 10 135 1.35 10
BA A (m/s) 1 1 1 1 1 1 3 2 2 2 2
B4 (N) 48 510 510 1021 | 1021 | 1021 | 1021 | 1021 | 1535 | 1535 | 1535
£% (Kg) 03 05 06 23 23 3 45 65 115 118 118
R (mm) 58 80 13 190
A 22 25 | 25 45 | 45 | T 90 [ 140 152 152 152
B 35 B8] 38 7T - 156 || 230 257 257 257
i 8 80 | 80 130 | 130 | 130 | 130 | 130 190 | 190 [ 190
D 0 50 80 140
E 0 315 | Bib 55 i 55 55 55 55 80.5 805 805
M M4*7 M6*7 MI10°10
AL 58 AR EZ 38 AKEZ (FiR)[58 AP AL BAFEE 38 REEZ
R XX1 XX2 XI X3 Xd
R BRE — — 6 6 6
Bl b SE 48 30 42 26 30
H 36 20 50 33 20
F 16 0 30 30 33
[ 10 5 4 3 5
BlEbFHA (Kin) AR
p: Tel: 027-818283"
BT 1R 2K 3k 5%k
5 " o Iy
1247 £ 27 E
E7S !
o o
s
= A d < ¢ (©),
- % #
L o o
E A A w 2 "
H i
3 19 48 3. 3 5.
EMT: 104k dn i EAF 5K [P0
©
H
o @@: o o
1 *
5 : 9 4,0
° ()
(E [ By F
e | [ W ] a
. " . 48 N . N
EMT 20 K 12 /T 30 4 40 K
o o, o
s
?aa®
1 A
B
1 R (mm) 58 80 130 190
WERR (m) 1 2 3 5 6 10 15 20 25 30 10
F8 1K (mm) 125 200 200 348 3475 348 348 348 510 510 510
AR I (mm) 06 0.6 06 10 0.83 L0 1.0 10 1.35 1.35 10
FAy R (m/s) 1 1 1 1 1 1 3 2 2 2 2
B (N) 4- 5.10 5-10 1021 | 1021 | 1021 | 1021 | 1021 | 1535 | 1535 | 1535
*% (K 0. 5 06 23 23 38 45 65 115 118 118
R (mm) 5 80 130 90
A 24 25| 25 45 | 45 | 75 | 90 | 140 152 52 152
B 3! 38 | 38 75 | 75 | 126 156 | 230 257 57 257
c 58 80 | 80 130 | 130 | 130 130 | 130 190 | 190 | 190
D 40 50 80 10
E 20 315 | 315 55 | 55 | 65 | 55 | 55 805 | 805 | 805
M M4*7 M6*7 M8*10 MI0*10
kREL 58 Rfkz 38 Rk £ (4)|58 M ik 2 58 RF kL 38 My ikz 3B AREL
) XX1 XX2 X1 X2 X3 X4
BB — — 6 10 6 6
e b oE 8 30 42 48 26 30
H 36 20 50 36 33 20
F 16 0 30 a1 30 33
(& 10 5 4 10 3 5
B FHK (

KiR) AR
Tel:






